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Circuit Alignment

Equipment Required.—An accurately cali-
brated signal generator; a wobbulator; an
oscilloscope; an output meter; a non-metallic
screwdriver type trimming tool and a double-
ended hexagonal trimming tool,

If the wobbulator is not provided with a
self-contained marker-pip generator, the un-
modulated output of the signal generator is
used to provide marker-pips, and it should
be connected to the signal generator terminals
on the wobbulator, or, on wobbulators where
these are not provided, to the wobbulator
output via a 470kQ resistor. The shape of
the marker-pips may be improved by con-
necting a 0.005+F capacitor or less across the
oscilloscope input terminals, but to avoid dis-
torting the response curve the lowest possible
capacitance should be employed.

In order to facilitate accurate tuning of

the receiver on the M.W. and L.W. bands,
R.F. alignment points are indicated by black
dots on the appropriate tuning scales.

AM. Alignment

1.—Switch receiver to M.W., turn gang to
its mid-position and volume contro!l to
maximum. Connect output meter across
T1 secondary winding. Connect signal
generator output between V2b control grid
(pin 2) and chassis.

2.—Feed in a modulated 470kc/s signal and
adjust the cores of L21 (CI), L20 (Cl),
L16 (Bl) and L15 (B1) in that order for
maximum output, reducing the signal
generator output to maintain a S50mW
reading on the output meter.

3.—Repeat operation 2 until no further im-
provement can be obtained.

4.—Turn tuning control fully clockwise and
check that the cursor coincides with the
black dot at the right-hand end of the
M.W. scale. Transfer signal generator to
the A.M. aerial and earth sockets.

5.—Switch to M.W. and tune the receiver
to 522m. Feed in a 575kc/s signal and
adjust core of L11 (B2) and slide former
of L9 (B2) along the ferrite rod for maxi-
mum output.

6.—Tune receiver to 207m. Feed in a
1,450kc/s signal and adjust C29 (B2), C23
(A2) for maximum output. .

7.—Repeat operations 5 and 6 until neither
affects the other,
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Resistaors Cc7 9pF E3 C58 0-01uF D1 [ COS SOR - 575 7 579
C8 3pF  E3 C59 100pF DI
R1 IMQ A2 Cc9 0-001uF E4 C60 25uF D1
R aioka B3 Gil  8%oF Ei Gz ‘oowE DI
82, 62 0-05uF 1 — i i . i

Rt oo K3 ST I Ce3  OOIF  Es B Takes signal, tune it T on the recelver

R5 IMQ  Ed Ci13 82pF - E4 Cé4  0-001uF E4 gnal, tune 1t in on the

R6 22k E3 Cla 5pF  E3 Cé65 0005uF B2 and then slide the former of L10 (C2)

R7 10kQ A2 C15 21pF  E4 C66  0-005uF C2 along the ferrite rod for maximum output.

%g 53%3 gg g%g 7295 Ej 9.—Secure the formers of L9 and L10 to the

R10 27RO Bl c18 I,BOOSF A2 : ferrite rod with an adhesive.

R11 27kQ) A2 C19 1,800pF A2 Colis* H

RI12 22kQ B2 G20 160pF B2 F.M. Alighment

Ri2 sk B2 a21 oggg"f}: Az L - E 1.—Switch receiver to F.M. Connect oscil-

R15 22kO0 Bl C23 10pF A2 L3 — E3 loscope between the junction of R22, C49

R16 470  Cl C24 100pF B2 L4 — E4 (C2) and chassis, Connect wobbulator, via

%g 13811:8 (C:i ggg 8:882:;11;' gg };Z - E: a 0.0054F capacitor in its live lead, to V3

RI9  12MQ Gl C27 100pF Bl L7 13 Ea control grid (pin 2) and chassis, Discon-

R20 22MQ  Cl1 C28 528pF A2 L8 13 E4 nect the positive end of €49. Turn oscil-

R21l 220kQ Cl C29 40pF B2 L9 12 B2 loscope gain towards maximum and volume

§§§ 1?{8 8} 8;0 440911‘; ﬁ% {-‘j‘l’ 425 C2 control to minimum, .

1 1 440 . ; : :

R24  470k0 DI ¢32  1000F B2 Li2 o3 B2 2—Feed in a 10.7 Mc/s signal, deviated by

R25 100kQ  C2 C33 18SpF B2 L13 — B2 +4+300kc/s. and adiust the cores of L17

§§$ gggig g% ggg 1%335 g% ﬂ‘; s gf (CI) and L18 (C1) for a response similar

R28  56MO  C2 €36  100pF Bl L16 80 Bl to curve 1 in the alignment curves (col.

R29 22kQ Cc2 C37 0-005uF B1 Li7 — Cl 4), using the hexagonal trimming tool.

R30 220kQ  C2 C38  0005:F Cl L18 125 Cl1 ‘The 1 100kc/s points should be 1dB down,

e ke Cl G O%eE & Lis o o 3.—Transfer wobbulator to V2b control grid

R33 33k DI Cal 60pF  Cl L21 50 O1 (pin 2) and chassis. Adjust the cores of

R34 270 D1 C42 100pF C1 22 30 — L13 (B2) and L14 (B2) for a response

%332 gggg g} gﬁ %gggg gi similar to curve 2. The +100kc/s points

R37 1000 DI Cas 014F Bl should be 4.5dB down. .

R38 270 D2 C46 100pF  Cl Miscellaneous* 4.—Transfer wobbulator, via a 0.0054F
C47 100pF  Cl capacitor, to tag 10 on the F.M. tuner
gg O'OO;NE 85 1 2 l,},g:g b1 unit.  Adjust the cores of L7 (E3) and

Capacitors G50 002.F Gl c i L8 (E4) to obtain a response similar to
C51 0-005,F D2 curve 3. The +100kc/s points should be

Cl1 1,800pF A2 C52 0-01pF D2 S1—S10 — A2 6dB down.

8§ 1,328P§ %z ggz 0'021;“1{! S% S11,812 — D2 5.—Reconnect C49. Transfer oscilloscope

Ca 201131? E4 C55 O'OIﬁF C2 to tl’}e junction of S9, R25 (CZ) and

C5 0:001zF  E3 C56 50uF D2 chassis. With wobbulator connected as for

C6 10pF  E4 C57 50uF D2 * Approximate D.C. resist- operation 4, a response similar to curve 4

ance tn ohms. should be obtained. Slight readjustment
of L18 (C1) may be necessary to obtain a
symmetrical curve, Remove wobbulator
- = . and oscilloscope. .
. - _ 6.—Check that with the tuning control turned
== fully clockwise the F.M. cursor coin-
/ﬁ cides with the black dot at the right-hand
c58 edge of the F,M. scale aperture. Connect
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Switches.—S$1-S10 are the waveband and Anod -
A.M./E.M. change-over switches, ganged in a Valve _fnode | Saeen | Cath |
single rotary unit and indicated on the com- V mA V mA V
ponent side of the chassis in location reference [ ;
A2, A detailed switch diagram is shown in o7 5_8Mode1579 :
column 4, where it is drawn as seen from the V1 UCCss {%i o | vl - - =
rear, The table below shows the switch a 70 34 — | — =
va venst {581 3% &l as =
RN
Switches: F.M. L.W. M.W. V5 ULS4 L. P30 f47.0 163 1 19 . 12-4
v6 UYS5 2231 — | — 1 24000
S1 — —_— C T.I. UM80 L3 = = = -
&2 G N L Model 575
S — c |, cC V1 UCCSs {g; Wil -z
S5 Cc — — UcH al 78 34| —, — —
S6 — C — v2 81 {bl 168 | 14| 57! 40, —
S7 — C C V3 UF89 .. 147 | 75| 75 251 —
S8 — C C V4d UABG80.. | 60 | 05| — i —  —
59 C _ st v5 UL84 .., 230 470 | 168 | 17 13-0
S10 el C c vé6 UY85 1223 — | — 1 — 24208

Diagram of the switch unit.

!A.C, reading. !Cathode current 71rr;A
*Cathode current 68maA.



